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H_pP 100.0 10.8 10.8 15.7 4.9 7.8 18.6 10.8 2.9 2.0 1.0 39.2 1.0
ch/\Rae 130 11 17 18 8 11 22 - 16 4 1 50 4
100.0 8.5 13.1 13.8 6.2 8.5 16.9 - 12.3 3.1 0.8 38.5 3.1
chEZ (P 94 22 11 16 2 2 16 14 - 2 4 28 1
e 100.0 23.4 11.7 17.0 2.1 2.1 17.0 14.9 - 2.1 4.3 29.8 1.1
ch/ |\ 111 9 6 12 3 4 17 3 19 2 1 43 11
100.0 8.1 5.4 10.8 2.7 3.6 15.3 2.7 17.1 1.8 0.9 38.7 9.9
rhER (P 117 17 9 34 3 5 25 12 - 1 3 32 1
INERRE R 100.0 14.5 7.7 29.1 2.6 4.3 21.4 10.3 - 0.9 2.6 27.4 0.9
ch/\Ra 80 6 8 12 - - 7 2 17 2 1 37 2
100.0 7.5 10.0 15.0 - - 8.8 2.5 21.3 2.5 1.3 46.3 2.5
ChER{pa 83 10 8 29 2 3 11 8 - 1 1 29 1
BB 100.0 12.0 9.6 34.9 2.4 3.6 13.3 9.6 - 1.2 1.2 34.9 1.2
= ch/\{p e 109 4 15 20 2 7 20 4 18 3 - 45 6
100.0 3.7 13.8 18.3 1.8 6.4 18.3 3.7 16.5 2.8 - 41.3 5.5
X 826 90 85 157 25 40 137 54 73 17 12 304 27
100.0 10.9 10.3 19.0 3.0 4.8 16.6 6.5 8.8 2.1 1.5 36.8 3.3
H_p 232 22 28 34 13 19 41 11 19 6 2 90 5
100.0 9.5 12.1 14.7 5.6 8.2 17.7 4.7 8.2 2.6 0.9 38.8
b 205 31 17 28 5 6 33 17 19 4 5 71
100.0 15.1 8.3 13.7 2.4 2.9 16.1 8.3 9.3 2.0 2.4 34.6
ISR 197 23 17 46 3 5 32 14 17 3 4 69
100.0 11.7 8.6 23.4 1.5 2.5 16.2 7.1 8.6 1.5 2.0 35.0
By e e 192 14 23 49 4 10 31 12 18 4 1 74
) 100.0 7.3 12.0 25.5 2.1 5.2 16.1 6.3 9.4 2.1 0.5 38.5
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2 1 826 40 52 13 2 30 8 11 4 5 680 31
100.0 4.8 6.3 1.6 0.2 3.6 1.0 1.3 0.5 0.6 82.3 3.8
. 102 2 > : : 4 - 3 2 i 88 3
Hop PEER 100.0 2.0 2.0 - - 3.9 - 2.9 2.0 1.0 86.3 2.9
- 130 6 8 i - 4 > - - - i1 3
100.0 4.6 6.2 0.8 - 3.1 1.5 - - - 86.2 2.3
— 94 7 4 1 - 3 - 3 i il 77 3
A - FEER | 000 7.4 4.3 1.1 - 3.2 - 3.2 1.1 1.1 81.9 3.2
(1 ~ 111 7 i3 5 - ! p) - - 1 80 9
d/)vipEE
y 100.0 6.3 11.7 4.5 3.6 1.8 - - 0.9 72.1 8.1
N 117 6 6 p) - 6 - - - 102 2
X =g e 100.0 5.1 5.1 1.7 - 5.1 - - - = 87.2 1.7
m - 80 4 10 2 i 3 2 2 - - 62 3
100.0 5.0 12.5 2.5 1.3 3.8 2.5 2.5 - 77.5 3.8
83 3 1 - - - - 2 - 2 75 p)
EX>
o FEER | 1000 3.6 1.2 - - - - 2.4 - 24 904 2.4
= - 109 5 8 2 i 6 2 i i - 84 6
100.0 4.6 7.3 1.8 0.9 5.5 1.8 0.9 0.9 - 77.1 5.5
2 826 40 52 13 2 30 8 11 7] 5 680 31
100.0 4.8 6.3 1.6 0.2 3.6 1.0 1.3 0.5 0.6 82.3 3.8
e 237 8 10 i - 8 b} 3 b} i 200 6
T-EXE 100.0 3.4 4.3 0.4 - 3.4 0.9 1.3 0.9 0.4 86.2 2.6
P 205 14 17 6 - 7 2 3 i 2 {57 i)
% Hou 100.0 6.8 8.3 2.9 - 3.4 1.0 1.5 0.5 1.0 76.6 5.9
B =k 197 10 16 4 i s} b p] - - 164 5
INTEEREER 100.0 5.1 8.1 2.0 0.5 4.6 1.0 1.0 - - 83.2 2.5
v 192 8 9 2 1 6 2 3 1 2 159 8
RISRE 100.0 4.2 4.7 1.0 0.5 3.1 1.0 1.6 0.5 1.0 82.8 4.2
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2 1k 826 345 162 176 340 169 21 38 73
100.0 41.8 19.6 21.3 41.2 20.5 2.5 4.6 8.8
FRER 102 39 i9 19 44 20 2 4 9
Hop = 100.0 38.2 18.6 18.6 43.1 19.6 2.0 3.9 8.8
~ 130 51 25 39 49 36 3 5 i3
o/ \(pEE
100.0 39.2 19.2 30.0 37.7 27.7 2.3 3.8 10.0
BY 94 50 i8 7 54 i5 3 4 3
A o= s FRERR 100.0 53.2 19.1 7.4 57.4 16.0 3.2 4.3 3.2
= o 111 47 29 33 34 25 4 3 i5
y 100.0 42.3 26.1 29.7 30.6 22.5 3.6 2.7 13.5
FRER 117 64 20 16 51 17 2 5 7
X \=ma - 100.0 54.7 17.1 13.7 43.6 14.5 1.7 4.3 6.0
m - 80 24 11 24 28 17 2 8 7
100.0 30.0 13.8 30.0 35.0 21.3 2.5 10.0 8.8
CRER 83 37 16 5 40 14 : 8 6
T = 100.0 44.6 19.3 6.0 48.2 16.9 - 9.6 7.2
= -~ 109 33 24 33 40 25 5 i i3
)\
100.0 30.3 22.0 30.3 36.7 22.9 4.6 0.9 11.9
2 K 826 345 162 176 340 169 21 38 73
100.0 41.8 19.6 21.3 41.2 20.5 2.5 4.6 8.8
e 232 90 44 58 93 56 5 9 22
UoEAX 100.0 38.8 19.0 25.0 40.1 24.1 2.2 3.9 9.5
p— 205 97 47 40 88 40 7 7 i8
= B 100.0 47.3 22.9 19.5 42.9 19.5 3.4 3.4 8.8
B \=ak 197 88 31 40 79 34 4 i3 4
e 100.0 44.7 15.7 20.3 40.1 17.3 2.0 6.6 7.1
P —— 192 70 40 38 80 39 5 9 i9
= 100.0 36.5 20.8 19.8 41.7 20.3 2.6 4.7 9.9
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